

NED UNIVERSITY OF ENGINEERING & TECHNOLOGY UNIVERSITY ROAD, KARACHI - 75270, PAKISTAN

Fax: (021) 99261255 Tel: 99261261-68 Ext 2471

Email: adfp2@neduet.edu.pk Website: http://www.neduet.edu.pk



"Say No to Corruption"

No. DP/142219/7012/387 Dated: 74.05.2021

M/s. KBS Enterprises 1101,11th Floor Mehdi Tower SMCHS, Shahrah-e-Faisal e-mail: info@kbse.com.pk

Tel: 92-21-34325512-14

Sub: Contract Schedule regarding Tender No. PC/NED/CSITT/Surveying/7012/2021

It is informed that on the recommendations of the Procurement Committee, the Competent Authority of this University has been pleased to approve the Contract Schedule in respect of BoQ Item No. 02,03,04,06,07,08,09,10,11, 12,13,14,16,18,19 & 20 specification attached with total cost of Rs. 1,305,717/-(Rupees: One Million Three Hundred Five Thousand Seven Hundred Seventeen Only) i.e. inclusive of all federal and provincial taxes and duties etc. to your firm as follows:

You are required to attend the Office of the Undersigned in Procurement Cell at the earliest to complete the requirements for executing the Contract Agreement and to furnish the Performance Bond. You are further required to start immediately the subject job; the completion period is 20 days from the date of issuance of this letter, as specified in bidding documents of the above-referred tender. However, in case of any technical assistance / clarification and before delivery at Tharparkar, following officer of the Focal Person (TIEST) may be contacted:

Mr. Khalid Mahmood Makhdoom

Deputy Registrar (TIEST) Phone: 99261261-8 (ext. 2591) E-mail: drcdn@neduet.edu.pk

In case of delay in completion of job, the late delivery charges equivalent to 0.1 percent of the Contract Price per day will be deducted. If the supply is not according to the specifications or unsatisfactory, the Contract will be rejected and cancelled at the risk and cost of firm. Besides, if you fail to execute the contract / supply as per terms and conditions specified in the bidding documents, action will be taken which may be blacklisting and Bid Security / Performance Security shall be forfeited.

Prescribed Sales Tax Invoice, payment of Stamp Duty, Valid Professional Tax Certificate and Job Completion / Inspection Certificate duly issued by Indenting Department will be required for payment. Part payment against part delivery can be made. However, withholding of all government taxes shall apply as per Government Schedule.

Thanking you and assuring you of our best cooperation at all the times.

Copy via email to:

1. PA to Vice Chancellor

Focal Person, TIEST Registrar 6. RA 2. PVC 3. DF 4.

9/1

100,400

ADP-II



NED UNIVERSITY OF ENGINEERING & TECHNOLOGY UNIVERSITY ROAD, KARACHI - 75270, PAKISTAN

Email: adfp2@neduet.edu.pk Website: http://www.neduet.edu.pk Tel: 99261261-68 Ext 2471



"Say No to Corruption"

No. DP/142219 /7012/ 3876)

Dated: 1405.2021

M/s. Asia Geomatics Suit # 17, Ground Floor, Lodhi Arcade 42-Ferozpur Road Lahore e-mail: infotrack789@gmail.com

Cell: 0320-9669668

Sub: Contract Schedule regarding Tender No. PC/NED/CSITT/Surveying/7012/2021

It is informed that on the recommendations of the Procurement Committee, the Competent Authority of this University has been pleased to approve the Contract Schedule in respect of BoQ Item No. 01,05,15,17 specification attached with total cost of Rs. 1,795,500/- (Rupees: One Million Seven Hundred Ninety Five Thousand Five Hundred Only) i.e. inclusive of all federal and provincial taxes and duties etc. to your firm as

You are required to attend the Office of the Undersigned in Procurement Cell at the earliest to complete the requirements for executing the Contract Agreement and to furnish the Performance Bond. You are further required to start immediately the subject job; the completion period is 20 days from the date of issuance of this letter, as specified in bidding documents of the above-referred tender. However, in case of any technical assistance / clarification and before delivery at Tharparkar, following officer of the Focal Person (TIEST) may be contacted:

Mr. Khalid Mahmood Makhdoom

Deputy Registrar (TIEST) Phone: 99261261-8 (ext. 2591) E-mail: drcdn@neduet.edu.pk

In case of delay in completion of job, the late delivery charges equivalent to 0.1 percent of the Contract Price per day will be deducted. If the supply is not according to the specifications or unsatisfactory, the Contract will be rejected and cancelled at the risk and cost of firm. Besides, if you fail to execute the contract / supply as per terms and conditions specified in the bidding documents, action will be taken which may be blacklisting and Bid Security / Performance Security shall be forfeited.

Prescribed Sales Tax Invoice, payment of Stamp Duty, Valid Professional Tax Certificate and Job Completion / Inspection Certificate duly issued by Indenting Department will be required for payment. Part payment against part delivery can be made. However, withholding of all government taxes shall apply as per Government Schedule.

Thanking you and assuring you of our best cooperation at all the times.

Copy via email to:

Focal Person, TIEST 1. PA to Vice Chancellor 5. RA Registrar 2. PVC

GEOMATICS

HITARGET Surveying the world, Mapping the future.

					\
Item No.	Description of Items	Country of Origin	Qty.	Unit Price	Total Price
04	Laser Distance Meter Model: LDM-100 Distance Meter Laser Range 100 meter, Single Person Operation Laser clearly indicates the target Physical bubble vial ensures the measure is horizontal Ergonomic design. (Specification As Per Brochure)	China	02	12,500/-	25,000/-
05	Long Steel Measuring Tape Type I Steel Measuring Tape 30m long.	China	10	1300/-	13,000/
06	Long Steel Measuring Tape Type II Steel Measuring Tape 50m long.	China	10	4500/-	45,000/-
07	Plump Bob Type I (Plumb Bob 100grm.)	Local Made	12	1200/-	14,400/-
80	Plump Bob Type II (Plumb Bob 200grm.)	Local Made	12	1400/-	16,800/-
09	Survey Arrows (Survey Arrows Iron.)	Local Made	100	300/-	30,000/-
10	Wooden Peg (Wooden Type.)	Local Made	100	390/-	39,000/-
11	BF-2 Ranging Pole Ranging Rod Iron Type 2M.	Local Made	30	2300/-	69,000/-
12	Carpenter Spirit Level (Spirit Level.)	China	05	1800/-	9000/-
13	Analog Prismatic Compass Prismatic Compass 4" Dia with Tripod.	China	05	45,000/-	225,000/-
14	Trough Compass Plastic Round.	China	05	1500/-	7500/-
15	Plane Table Survey Plain Table Set.	Local Made	05	13,500/-	67,500/-
16	Sanding SL-32 Automatic Level, (China), Magnification 32X, Leveling Accuracy 1.0mm, Objective Aperture: 38mm, Field of View: 1°20', Minimum Focusing Distance: 0.3m, Compensatory Tyep: Magnetic Dumping, Compensatory Working Range: ±15', Water & Dust Proof: IP54, Operating Temperature: - 20°C to +50°C, Weight: 11Kg. with standard accessories. (Specification As Per Brochure)	China	05	42,000/-	210,000/-
17	Tripods (Aluminium Tripod).	Local Made	10	5000/-	50,000/-

Suite # 17, Ground Floor, Lodhi Arcade, 42-Ferozepur Road, Lahore-Pakistan. Tel: +92-320-9669668 E-mail: infotrack789@gmail.com

Asia Geomatics

SIA GEOMATICS



FINANCIAL PROPOSAL Price Schedule in Pak. Rupees

Name of Bidder: M/S: ASI

M/S: ASIA GEOMATICS

IFB / Tender Number: PC/NED/CSITT/SURVEYING/7012/2021

tem No.	Description of Items	Country of Origin	Qty.	Unit Price	Total Price
01	Hi-Target Model: HTS-220R	China	05	333,000/-	1,665,000/-
	Reflectorless Electronic Total Station,				
	Made By: Hi-Target Surveying Instrument	/			
	Co. Ltd. (Guangzhou, China).				
	Specification:				2017
	Sokkia Software Total Station, 1" Display				113217
	Reading, 2" Angle Accuracy, Reflectorless				
	Range 600m, Dual side LCD display with alpha				5. DFI 1
	numeric keys Distance Range with Single Prism:				
	3000 meter, Distance Range with Triple Prisms:				
	6000m, Dual Axis Compensator, Alpha Numeric				
	Key Board, Internal Memory 20,000 points,				
	Plug-in Memory SD Card Supported, Mini USB				
	Slot, Dust and water protection: IP65 Operating				
	Temperature: -20°C to +50°C, Operating time	7			
9.	with one battery 16 hours (Approx.) Laser				
	Plummet, & Charger with standard accessories.				
	(Specification As Per Brochure)				
2	Sanding ET-02L Electronic Digital Theodolite,	China	05	161,000/-	805,000/-
	1" Display Reading, 2" Angle Accuracy,				
	Telescopic Image: Erect, magnification 30X,				
	Effective Aperture: 45mm, Field of View: 1°30',				
	Reading System Absolute Encoding, Minimum	/			
	Reading: 1"/5" (Selectable), Horizontal & /				
	Vertical Angle: Dual, LCD Display: 2 Sides,/				100
	Laser Range: be seen up to 100m, Internal				F. 2 4
	memory: Space for 256 pairs, Resolving Power				70. 1
	3", Min. Focus Range: 1.4m, Liquid-Electric			8.8	137 -
	Detection, Working Range: ±3, Rechargeable				1 No. 76 - 1
	Battery Ni-H /AA Battery, Battery timing:				
	10 Hours.				
_	(Specification As Per Brochure)				
	Garmin GPS (Hand Held)	China	05	28,800/-	144,000/-
	Min. Unit Dimensions, WxHXD: 2.1"x4.0"x1.3"				
	Display Size, WxH: 1.4"x1.7"; 2.2" diag (5.6 cm),				
	Display Resolution, WxH: 128x160 Pixel Display				
	Type: Transflective, Monochrome,				
	Weight: 5oz (141.7g) with batteries Battery: 2				
	AA Batteries (Not Included); NiMH or Lithium,	11			1/1
	Battery Life: 25 Hours, Waterproof: Yes (IPX7)	1/			1/1/
	High-Sensitivity Receiver: Yes			1	
	Interface: USB.	10		I	/
Service Servic	(Specification As Per Brochure)	V.7		Page #	1

Page # 01 of 03

Asia Geomatics

Suite # 17, Ground Floor, Lodhi Arcade, 42-Ferozepur Road, Lahore-Pakistan.

Tel: +92-320-9669668 E-mail: infotrack789@gmail.com

GEOMATICS



Item Code No.	Description of Items	ountry of Origin	Qty.	Unit Price Tot	cal Price
18	Prism Sets, Includes: Single Prism, Single Tilting Mount with Coaxial Target plate & soft case, Telescope Range Pole graduated 2.6 meter built-in bubble with soft case complete set.	China	05	17,5001-	-1002, 78
19	Measuring Staff Leveling Staff Aluminium Double Side Graduation 3-Section 5M 16 Feet.	Local Made	10	3400/-	34,000/-
20	Optical Square Optical Square (Local Made).	Local Made	05	1500/-	7500/-
	Total Bid Amount Inc	luding A	II Taxe	s & Duties	3,564,200/-

Total Bid Amount in Words: Rs. 3,564,200/-

Total Bid Amount in Figure: Three Million, Five Hundred Sixty Four Thousand, Two Hundred Only.

Asia Geomatic

Signature of Bidder: ______

Name of Bidder: Yasir Shaukat

Designation of Bidder: Director

Contact No.: <u>0320-9669668</u>

Page # 03 of 03

PART-VIII

NED UNIVERSITY OF ENGINEERING AND TECHNOLOGY REGISTRAR OFFICE (TIEST) SPECIFICATIONS AND QUANTITIES



Tender No. PC/NED/CSITT/SURVEYING/7012/2021

	Description of items/specifications		Total	Price in Pak.	
em ode	Description of items/specifications	Unit	Quantity Required	0 222	Total Amount
		Nos.			
	1" Minimum increment accuracy reading 5" Angle Accuracy. Minimum Focusing Dist. 1.5m. Magnification 30x, With Single Tilting Range Pole Prism Set Distance 4000m (4Km), Unlimited memory points record. Create Job: Unlimited Jobs, On board Software: Station Setup, Resection, Automatic Azimuth Angle, Quick Station, 3d Coordinate, Remote Benchmark, Stake out HA-HD, XYZ, Stake outline,				
	Divide line, Offset Dist, Offset Ang, 2point Ref. line, Tape, Point Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Projection, Area & Perm, Calcu, Traverse Calcu, REM, RDM (Radial, Projection, Area & Perm, Calcu, Projec				the second of
444	Projection, Area & Perm, Calcu, Haveise Cardy, Talverse Cardy,		-8		
	Case, Lens Cover, Battery, Belts, Cover. (MADE IN JAPAN)		~		
	Case, Lens Cover, Banciff Bons,		l'	-11	
	M-del # FT 02	Nos	5.	114,529.000	572,645
2.	SOUTH Digital Theodolite Model # ET-02 Accuracy: 2", Telescopic Image: Erect, Magnification: 30x, Effective				
		ıg,			* 1
	Minimum reading: 1"/ 5" (Selectable), Horizontal of LCD Display: 2 sides, Laser range: be seen up to 100m, Internal memory	y./			
			1		
1	Space for 256 pairs, Power Supply: Rechargeable Ni-H battery/ AA battery, Operating time			1.	106.026
•	GARMIN GPS (hand held) Model # Etrex 10	Nos.	5.	21,367.000	106,835
3.	Min. Unit dimensions, WxHxD: 2.1" x 4.0" x 1.3" Display size, WxH:1 x 1.7"; 2.2" diag (5.6 cm), Display resolution, WxH: 128 x 160 pixels Display type: Transflective, monochrome, Weight: 5 oz (141.7 g) with batteries Battery: 2 AA batteries (not included); NiMH or Lithium Battlife: 25 hour. Waterproof: yes (IPX7), High-sensitivity receiver: yes Interface: USB. (MADE IN USA/TAIWAN)	l.			
		Nos	3. 2.	9,316.23	0 18,63
4.	Laser Distance Meter Model # LDM-80A Distance Meter Laser 80 meter, Single Person Operation Laser clearly indicates the target Physical bubble vial ensures the measure is horizon Ergonomic design				
	Steel measuring tape 30m long	\ No	s. 10.	2,393.10	60 23,9
6.	Steel measuring tape 50m long	No		222.2	22 2,6
7.	Plumb bob 1^0grm	N	os. 12.	410.2	.56
8	Plumb bob 200grm	N	os. 100.	: 128.2	
9	Survey Arrows Survey Arrows Iron			- 4	/

Marketing Office

1101,11th Floor, Mehdi Tower, SMCHS, Shahrah-e-Faisal, Karachi. T: +92 (21) 34325512-14

F: +92 (21) 34325517

F. info@khse.com.pk

Lahore

65-Garden Block, New Garden Town, Lahore. T: +92 (42) 35851065-6

F: +92 (42) 35840965 E: lhr@kbse.com.pk

Islamabad

H-1566, Street 54, Phase III, Bahria Town, Islamabad. T: +92 (51) 5733303

T: +92 (51) 5733470 E: isb@kbse.com.pk

Multan 17-A, Oppt: Excise office. Main Gate near MDA Chowk Lodhi Colony Road, Multan. T: +92 (61) 4422037

E: mux@kbse.com.pk

Registered Office B-11, Sheristan Building, Deen Munammad Wafayee Road Karachi, Pakistan.

T: +92 (21) 32638158 T: +92 (21) 32636011-3

10.	Wooden Peg Wooden Type	Nos.	100.	210.26	21,026
11.	BG-2 Ranging Pole Ranging Rod Iron Type 2M	Nós.	30.	1,453.00	43,590
12.	Carpenter Spirit level Spirit Level	/ Nos.	5.	692.31	3,462
13.	Analog Prismatic Compass Prismatic Compass 6" Dia with Tripod	Nos.	5.	10,769.23	53,846
14.	Trough Compass Trough Compass material brass Graduation: 0 to 360	Nos.	5.	10,256.41	51,282
15	Plain Table Set	Nos.	5.	10,000.00	05,508
16.	SOUTH Automatic Level Model # NL-32 40 mm, Minimum focus distance: 0.3m, Image: Erect, Reticle: Cross reticle, Standard 1km deviation: 1mm, Sensitivity of Bubble: 8'/2mm, Built in Bubble Mirror easy to see and level regardless of autolevel position, Built in Angle Circle 360° turn angles, Enhanced magne air damping compensator, Excellent shock proof function with patent, Practical Dust proof & waterproof capability.	ti¢/	5.	21,366.66	106,833
E	Aluminium Tripod	Nos.	10.	N. S. E.	
18.	Prism Set Nikon Prism with Traget Plate and Prism Pole 2.15m	Nos.	5.	13,247.86	66,239
19.	Measuring Staff Levelling Staff Aluminum Double Side Graduation 3-Section 5M 16 Fe	Nos.	10.	2,307.69	23,077
20.	Optical Square Optical Square	Nos.	5.	837.60	/4,188
	, TOTA				4,036,928
	ADD: GST/SRB (Whichever is applicable	17%			/ 686,278
Sa Care	Total Bid Amount including all taxes & duties etc	e. \		11	/ 4,723,206

TAMES IN THE PARTY OF

Terms & Condition:

Validity: 90 Days

Delivery: As per Tender Terms GST: 17% Addl. For Registered Payment: As per Tender Terms Calibration: 3 Years Free of Cost Warranty: As per Tender Terms

Signature & Stamp of Tenderer

www.kbse.com.pk

Marketing Office

1101,11th Floor, Mehdi Tower, SMCHS, Shahrah-e-Faisal, Karachi.

T: +92 (21) 34325512-14 F: +92 (21) 34325517

E: info@kbse.com.pk

Lahore

65-Garden Block, New Garden Town, Lahore. T: +92 (42) 35851065-6

F: +92 (42) 35840965 E: lhr@kbse.com.pk Islamabad

H-1566, Street 54, Phase III, Bahria Town, Islamabad. T: +92 (51) 5733303 T: +92 (51) 5733470

E: isb@kbse.com.pk

Multan

17-A, Oppt. Excise office, Main Gate near MDA Chowk Lodhi Colony Road, Multan. T: +92 (61) 4422037 E: mux@kbse.com.pk Registered Office

Be-11, Sheristan Building,
Deen Muhammad Wafayee Road
Karachi, Pakistan.
T: +92 (21) 32638158
T: +92 (21) 32636011-3



Price Schedule in Pak. Rupees

Page 1 of 1 IFB Number Name of Bidder. KBS Enterprises. 6 4 Remarks (if any) Total Unit price Quantity Country of Description Item origin 3,249,996.8 Inclusive all Taxes 649,999.4 Words **Total Station** Japan 1 669,995.0 Inclusive all Taxes 133,999.0 5 Digital Theodolite China 2 124,997.5 Inclusive all Taxes 24,999.5 5 GPS (Hand Held) Taiwan 3 21,800.0 Inclusive all Taxes 10,900.0 2 China Laser Distance Meter 15,000.0 Inclusive all Taxes 1,500.0 10 China Steel Tape 3Cm 5 28,000.0 Inclusive all Taxes 2,800.0 10 Steel Tape 50m China 6 3,120.0 Inclusive all Taxes 260.0 12 Local 7 Plumb bob 100grm 5,760.0 Inclusive all Taxes 480.0 12 Local Plumb bob 200grm 8 15,000.0 Inclusive all Taxes 150.0 100 Local 9 Survey Arrows 24,600.0 Inclusive all Taxes 246.0 100 10 Wooden Pegs Local 51,000.0 Inclusive all Taxes 1.700.0 30 Local Ranging Rod 2m 11 4,050.0 Inclusive all Taxes 810.0 5 Local 12 Spirit Level 63,000.0 Inclusive all Taxes 12,600.0 5 China 13 Analog Prismatic Compass 12,000.0 60,000.0 Inclusive all Taxes 5 Local Trough Compass 14 19,500.0 97,500.0 Inclusive all Taxes 5 Plane Table Survey Local 15 124,995.0 |Inclusive all Taxes 24,999.0 5 China Automatic Level 16 54,990.0 Inclusive all Taxes 5,499.0 10 China 17 Tripod 77,500.0 Inclusive all Taxes 15,500.0 5 China 18 Prism Set 27,000.0 Inclusive all Taxes 2,700.0 10 Local Measuring Staff 19

Majoh Total Bid amount in words: Four Million Seven hundred Twenty Three Thousand Two Hundred Four Only.

Total Bid amount in figure:

5

4,723,204/

4,723,204.3

4.900.0 Inclusive all Taxes

Signature of Bidder

Local

Mote: In case of discrepancy between unit price and total, the unit place shall prevail.

(ii) In case of discrepancy between unit price and total, the unit price shall prevail.

(ii) The unit and total prices Delivered at Technical Training Centre, Mithi Phase-I Thar Institute of Standard Sciences and Technology (TIEST) a NED University Constituent College should include the price of incidental services. No separate payment shall be made for the incidental services.

Marketing Office 1101,11th Floor, Mehdi Tower, SMCHS, Shahrah-e-Faisal, Karachi. T: +92 (21) 34325512-14 F: +92 (21) 34325517 E: info@kbse.com.pk

20

Optical Squara

Lahore 65-Garden Block, New Garden Town, Lahore. T: +92 (42) 35851065-6 F: +92 (42) 35840965 E: lhr@kbse.com.pk

Islamabad H-1566, Street 54, Phase III, Bahria Town, Islamabad. T: +92 (51) 5733303 T: +92 (51) 5733470 E: isb@kbse.com.pk

Multan 17-A, Oppt. Excise office, Main Gate near MDA Chowk Lodhi Colony Road, Multan. T: +92 (61) 4422037 E: mux@kbse.com.pk

Registered Office B-11, Sheristan Building, Deen Muhammad Wafayee Road Karachi, Pakistan. T: +92 (21) 32638158 T: +92 (21) 32636011-3

SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY

CONTRACT EVALUATION FORM

TO BE FILLED IN BY ALL PROCURING AGENCIES FOR PUBLIC CONTRACTS OF WORKS, SERVICES & GOODS

		NED UNIVERSITY
1)	NAME OF THE ORGANIZATION / DEPTT.	
2)	PROVINCIAL / LOCAL GOVT./ OTHER	PROVINCIAL
3)	TITLE OF CONTRACT	Procurement of Laboratory Equipment
4)	TENDER NUMBER	PC/NED/CSITT/Surveying/7012/2021
5)	BRIEF DESCRIPTION OF CONTRACT	Procurement of Laboratory Equipment
6)	FORUM THAT APPROVED THE SCHEME	Syndicate
7)	TENDER ESTIMATED VALUE	6.123 MILLION
8)	ENGINEER'S ESTIMATE (For civil works only)	
9)	ESTIMATED COMPLETION PERIOD (AS P	PER CONTRACT) 20 days
10)	TENDER OPENED ON (DATE & TIME)	14-04-2021 12:00 AM
11)	NUMBER OF TENDER DOCUMENTS SOLI (Attach list of buyers)	D 04
12)	NUMBER OF BIDS RECEIVED	04
13)	NUMBER OF BIDDERS PRESENT AT THE	TIME OF OPENING OF BIDS 04
	BID EVALUATION REPORT (Enclose a copy)	PROVIDED
15)	NAME AND ADDRESS OF THE SUCCESSE	FUL BIDDER M/s. KBS Enterprises & M/s. Asia Geomatic
16)	CONTRACT AWARD PRICE	Rs. 3,101,217/-
17)	RANKING OF SUCCESSFUL BIDDER IN EVI. (i.e. 1st, 2nd, 3rd EVALUATION BID).	VALUATION REPORT
18)	METHOD OF PROCUREMENT USED : - (Ti	ick one)
	a) SINGLE STAGE – ONE ENVELOPE	E PROCEDURE YES Domestic/ Local
	b) SINGLE STAGE – TWO ENVELOPE	E PROCEDURE
	c) TWO STAGE BIDDING PROCEDUR	RE
	d) TWO STAGE – TWO ENVELOPE B	IDDING PROCEDURE
	PLEASE SPECIFY IF ANY OTHER	METHOD OF PROCUREMENT WAS ADOPTED
	EMERGENCY, DIRECT CONTRACTING	G ETC. WITH BRIEF REASONS:

		١	Vice Chancellor
19)	APPROVING AUTHORITY FOR AWARD OF CONTR.	ACT_	
20)	WHETHER THE PROCUREMENT WAS INCLUDED I	n ani	NUAL PROCUREMENT PLAN?
			Yes V No
21)	ADVERTISEMENT:		
		Yes	T00553-20-0086
	 SPPRA Website (If yes, give date and SPPRA Identification No.) 		
	(if yes, give date and SITKA Identification No.)	No	
	ii) News Papers		Daile David Daile Land Month
	(If yes, give names of newspapers and dates)	Yes	Daily Dawn, Daily Jang & Kawish 17-03-2021
		No	3000
22)	NATURE OF CONTRACT		Domestic/ Int.
23)	WHETHER QUALIFICATION CRITERIA WAS INCLUDED IN BIDDING / TENDER DOCUMEN	TS?	
	(If yes, enclose a copy)	15.	Yes No
		<u></u>	
24)	WHETHER BID EVALUATION CRITERIA		Yes No
	WAS INCLUDED IN BIDDING / TENDER DOCUMEN (If yes, enclose a copy)	TS?	Tes Fino
25)	WHETHER APPROVAL OF COMPETENT AUTHORIT	YWA	AS OBTAINED FOR USING A
	METHOD OTHER THAN OPEN COMPETITIVE BIDD	ING?	Yes No
20	WAS DID SECURITY OF A DIED FROM ALL THE DI	DDED	
26)	WAS BID SECURITY OBTAINED FROM ALL THE BI	DDER	Yes V No
27)	WHETHER THE SUCCESSFUL BID WAS LOWEST EV	VALU.	ATED Yes No
	BID / BEST EVALUATED BID (in case of Consultancies)	
201	WHETHER THE SUCCESSFUL BIDDER WAS TECHN	II CAT	LY Yes V No
20)	COMPLIANT?	ICAL.	LY Yes No
29)	WHETHER NAMES OF THE BIDDERS AND THEIR	QUOT	ED PRICES WERE READ OUT AT
	THE TIME OF OPENING OF BIDS?		Yes No
201	WHETHER EVALUATION REPORT OF THE	DIE	
30)	WHETHER EVALUATION REPORT GIVEN TO CONTRACT?	RIDDI	EKS BEFORE THE AWARD OF
	(Attach copy of the bid evaluation report)		Yes No

31) ANY COMPLAINTS RECEIVED (If yes, result thereof)	Yes
	No NO
32) ANY DEVIATION FROM SPECIFICATIONS GIVEN	IN THE TENDER NOTICE / DOCUME
(If yes, give details)	Yes
	No NO
33) WAS THE EXTENSION MADE IN RESPONSE TIME (If yes, give reasons)	Yes Yes
	No NO
34) DEVIATION FROM QUALIFICATION CRITERIA (If yes, give detailed reasons.)	Yes
	No NO
35) WAS IT ASSURED BY THE PROCURING AGENCE BLACK LISTED?	CY THAT THE SELECTED FIRM IS Yes No
36) WAS A VISIT MADE BY ANY OFFICER/OFFICIAL SUPPLIER'S PREMISES IN CONNECTION WITH T BE ASCERTAINED REGARDING FINANCING OF V (If yes, enclose a copy)	THE PROCUREMENT? IF SO, DETAILS
37) WERE PROPER SAFEGUARDS PROVIDED ON M THE CONTRACT (BANK GUARANTEE ETC.)?	MOBILIZATION ADVANCE PAYMEN Yes No
38) SPECIAL CONDITIONS, IF ANY (If yes, give Brief Description)	Yes
ignature & Official Stamp of Authorized Officer Assistant Director Cell	No NO nt-II
	Pacil.

<u>SPPRA, Block. No.8, Sindh Secretariat No.4-A, Court Road, Karachi</u> Tele: 021-9205356; 021-9205369 & Fax: 021-9206291

Print Save Res

Integrity Pact

DECLARATION OF FEES, COMMISSION AND BROKERAGE ETC. PAYABLE BY THE SUPPLIERS/CONTRACTORS/CONSULTANTS.

and the state of t
Contract Number: TC NED CSITT Survey 13/20 Dated: 24/05/2021
Contract Value: Rs. 1795 Sost-
Contract Title: Fromment of Meschel ilons
the procurement of any contractor Consultant) hereby declares that it has not obtained or inductive
the procurement of any contract, right, interest, privilege or other obligation or benefit free Government of Sindh (GoS) or any administrative subdivision or agency thereof or any other entity owned or controlled by it (GoS) through any corrupt business practice.
M. Aci la la
Without limiting the generality of the foregoing, Natural Supplier Contractor Consultation and warrants that it has fully declared the brokerage, commission, fees etc. paid
payable to anyone and not given or agreed to give and shall not give or agree to give anyone within or outside Pakistan either directly or indirectly through any natural or juridic
person, including its affiliate, agent, associate, broker, consultant, director, promote
shareholder, sponsor or subsidiary, any commission, gratification, bribe, finder's fee kickback, whether described as consultation fee or otherwise, with the object of obtaining
inducing the procurement of a contract, right, interest, privilege or other obligation or beneft in whatsoever form, from Procuring Agency (PA), except that which has been express
declared pursuant hereto.
[Name of Supplier Contractor Consultant] certifies that it has made and will make fit disclosure of all agreements and arrangements with all persons in respect of or related to the
transaction with PA and has not taken any action or will not take any action to circumvent to
above declaration, representation or warranty. M. Ack Geometrics
[Name of Supplier Contractes Consultant] accepts full responsibility and strict liability for making any false declaration, not making full disclosure, misrepresenting facts or taking an
action likely to defeat the purpose of this declaration, representation and warranty. It agree that any contract, right, interest, privilege or other obligation or benefit obtained or procure.
as aforesaid shall, without prejudice to any other right and remedies available to PA under any law, contract or other instrument, be voidable at the option of PA.
Notwithstanding any rights and remedies exercised by PA in this regard, account of its corrupt business practices and further pay compensation to PA in an amount equivalent to ten time the sum of any commission, gratification, bribe, finder's fee or kickback given by Name of Supplier Community as aforesaid for the purpose of obtaining or
inducing the procurement of any contract, right, interest, privilege or other obligation or benefit, in whatsoever form, from PA.
[Procuring Agency] [Supplier /Contractor/Consultant]
[Procuring Agency] [Supplier /Confractor/Consultant]

Integrity Pact

DECLARATION OF FEES, COMMISSION AND BROKERAGE ETC. PAYABLE BY THE SUPPLIERS/CONTRACTORS/CONSULTANTS.

	Contract Number: TC NED CSITI Surveying To12 Dated: 24/05/2021
	Contract Value: Rs. 1305717-
	Contract Title: Troument of Misc Hems.
	MIC VRC Fator
	[Name of Supplier/Contractor/Consultant] hereby declares that it has not obtained or induced the procurement of any contract, right, interest, privilege or other obligation or benefit from Government of Sindh (GoS) or any administrative subdivision or agency thereof or any other entity owned or controlled by it (GoS) through any corrupt business practice.
	Without limiting the generality of the foregoing, [Name of Supplier/Contractor/Consultant] represents and warrants that it has fully declared the brokerage, commission, fees etc. paid or payable to anyone and not given or agreed to give and shall not give or agree to give to anyone within or outside Pakistan either directly or indirectly through any natural or juridical person, including its affiliate, agent, associate, broker, consultant, director, promoter,
	shareholder, sponsor or subsidiary, any commission, gratification, bribe, finder's fee or kickback, whether described as consultation fee or otherwise, with the object of obtaining or inducing the procurement of a contract, right, interest, privilege or other obligation or benefit, in whatsoever form, from Procuring Agency (PA), except that which has been expressly
	declared pursuant hereto.
	[Name of Supplier/Contractor/Consultant] certifies that it has made and will make full disclosure of all agreements and arrangements with all persons in respect of or related to the transaction with PA and has not taken any action or will not take any action to circumvent the above declaration, representation or warranty.
	[Name of Supplier/Contractor/Consultant] accepts full responsibility and strict liability for making any false declaration, not making full disclosure, misrepresenting facts or taking any action likely to defeat the purpose of this declaration, representation and warranty. It agrees that any contract, right, interest, privilege or other obligation or benefit obtained or procured as aforesaid shall, without prejudice to any other right and remedies available to PA under any law, contract or other instrument, be voidable at the option of PA.
1	Notwithstanding any rights and remedies exercised by PA in this regard, [Name of Supplier/Contractor/Consultant] agrees to indemnify PA for any loss or damage incurred by it on
	account of its corrupt business practices and further pay compensation to PA in an amount equivalent to ten time the sum of any commission, gratification, bribe, finder's fee or
	kickback given by [Name of Supplier/Contractor/Consultant] as aforesaid for the purpose of obtaining or inducing the procurement of any contract, right, interest, privilege or other obligation or
	benefit, in whatsoever form, from PA.
	(7a)
	[Procuring Agency] [Supplier/Consultant]